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» SUMMARY

» INTRODUCTION

> ADDITION OF FRACTION

» SUBTRACTION OF FRACTION

» MULTIPLICATION OF FRACTION

» DIVISION OF FRACTION

» DECIMAL NUMBER

» MULTIPLICATION OF DECIMAL NUMBERS

» MULTIPLCATION OF DECIMAL NUMBERS BY 10, 100, 1000,

» DIVISION OF A DECIMAL NUMBER BY A WHOLE NUMBER



EXERCISE-2.1

Question 1.Solve:

Answer:

[i}2_§=M:%=1§

3]

[ii]4+%:¥:3_89=4%

2 _ 240 3

(g +3="35 - =
()24 134 _ 91
11 15 165 165

v .2 , 3 _ T+4+15 _ 2 _ 13
Mwt+ts+tz~—1 ~ W03

A2y -85St g

- 2 3 B 14 42 24
)93 21 W53 88

[Converting into like fractions]
:> e } 2> [ﬂrranglng in descending order]

2 8 2
Therefore, < gl 2

(ii) T %, 10 i;ﬁ, ?,g ﬁ [Converting into like fractions]
:}> = ':-‘* e [Arrenglng in descending order]

1
Therefore, 10 L‘:- } 5



Question 4.A rectangular sheet of paperis 12% cm long and 10% cm wide. Find its perimeter.

Answer:
Given: The sheet of paper is in rectangular form.
Length of sheet = 12% cm and Breadth of sheet = 10% cm

Perimeter of rectangle = 2 (length + breadth)
1 2 25 | 32
=2(125 +103) =2(5 + %)

iy (25x3-l|5-32x2) _ 2(@)

- 139 _ 139 _ 4p1
=i i e —463cm,

Thus, the perimeter of the rectangular sheet is 46% cm.

Question 5.Find the perimeter of (i) AABE, (ii) the rectangle BCDE in this flgure. Whose perimeter is greater?

() In AABE, AB = 2 cm, BE= 23 cm, AE = 32 cm

The perimeter of AABE = AB + BE + AE
il 3 §8 g & ; 1
=gt2phig Sty

50+55+72 _ 177

_ 1T
% = 20 - S5 M

Thus, the perimeter of AABEis B% cm.



(ii) In rectangle BCDE, BE = 2% cm, ED = % cm
Perimeter of rectangle = 2 (length + breadth)
s 3 i 1B 1 T
=2(2;+35)=2(% +%)

:2(33+14) g :7% s

12 6
Thus, the perimeter of rectangle BCDE is 7% cm.
Comparing the perimeter of triangle and that of rectangle,
8% cm }7% cm

Therefore, the perimeter of triangle ABE is greater than that of rectangle BCDE.

Question 6. Salil wants to put a picture in a frame. The picture is 7% cm wide. To it in the frame the picture

cannot be more than 71—?;] cm wide. How much should the picture be trimmed?

( Answer:

Given: The width of the picture = 7% cm and the width of picture frame = 7]—'“;] cm

Therefore, the picture should be trimmed = 7%—7i -3 B
51 61

-6 _3

BT T

Thus, the picture should be trimmed by % cm.



Question 8.Michael finished colouring a picture in 5 hour Vaibhav finished colouring the same picture in %

hour, Who worked longer? By what fraction was it Ionger?

Answer:

Time taken by Michael to colour the picture = % hour

Time taken by Vaibhav to colour the picture = % hour

Converting both fractions in like fractions, T and M %
Here, E{E :>— 1
Thus, Vaibhav worked longer time.

'r _%r_2_1
Vaibhav worked longer time by 1T m=T7 =1 = 5 hour

Thus, Vaibhav took % hour maore than Michael.

Question 7.Ritu ate % part of an apple and the remaining apple was eaten by her brother Somu. How much part

of the apple did Somu eat? Who had the larger share? By how much?

Answer.
The part of an apple eaten by Ritu = %
The part of an apple eaten by Somu = 1— z= T3 = %

Comparing the parts of apple eaten by both Ritu and Somu % B %

Larger share will be more by g-% = % part.

Thus, Ritu's part is % more than Somu’s part.



Question 1.Which of the drawings (a)(a) to (d)(d) show:
(i)2%1/5

(ii)2%1/2

(b)

(iii)3%2/3

{c) E__--I |

L--_E

(iv)3x1/4

() @ %

L] -::V‘l‘ \\"l"l: -

Answer:

Answer:

(i) — (d) Since 2 x i — % _%

(ii) — (b) Since 2 x % = —é _|_%

, 2 3,2 .3
(iii) — (a) Since 3 x g =gk 2
(iv) — (c) Since 3 x % :%4_%4_%



Question 2.Some pictures (a) to () are given below. Tell which of them show:

[ljgx%:%

Answer:
(-(c)Sinced3x s =+ +1+ =
(ii) - (a) Since 2 x 5 =

_|_
[iii}—[b]Siﬂ{ESX%:%—F%_F%

QUESTION 3 Multiply and reduce to lowest form and convert into a mixed fraction



Answer:

R R el PR -
(7Tx5="3 s =45
. 1 _ 4x1 _ 4 _ 41
[II}4}<§— 3 =1
6 _ 2x6 _ 12 _ 15
[|||}2><T— = ?_1?

(vi) 3 x6=5x3=15

(vii)11 x £ = 1X2 = 22 - 62

(viii)20 X 5 =4x4 =16

: 1 _ 13x1 _ 13 41
[IK]].?P - q . g 43
()15 x £ =3x3=9
Question 4.Shade:

() 1/20f the circles in box

(e)

(i) 2/3 of the triangles in box



AAA
@ |(AALA
AAA

(ii)3/5 of the squares inbox

DOO0O0

@ (00000

I
Answer:

(i) 1/2 of 12 circles = 1/2x12 = 6 circles

& AA
AAA
AWARAY

(i) 2/3 of 9 triangles = 2/3x9 = 2 x 3 = 6 triangles

5 o e )
BEE80
ooooo

(iii) 3/5 of 15 squares = 3/5x15= 3 x 3 = 9 squares

0}
o0
00
o0
o0

=]
@
Q
8]

Question 5



Answer:

(a)

(i) 3 of 24 = 12
(i) 3 of 46 = = 23

(b)

(2 of18=2 x18=2x6=12
(i) 2 of 27 =2 x 27=2x9 =18
(c)

(N 3of16=2 x16=3x4=12
(i) £ of36 =2 x36=3x9=27
(d)

() 2of20=2 x20=4x4=16
(i) £ of 35 =72 x 35=4x7 =28

QUESTION 6 Multiply and express as a mixed fraction

Answer:

()3 x5+ =3x2 =320 -5 —152
A ¥ . BEx¥ . 135 3

[b}EXGE—EX?— e 4—331

(€7 %23 ="17x = ==L -

PP

T _ 19 _ 4x19 76 _ 1

1 B _ 13x3 __ 3 1
[E}ngﬁ'—TXB— o —E—lgi

[ﬂ3%><8:1—;x8: 17;‘3: 136 _ g7l



Question 8, Vidya and Pratap went for a picnic. Their mother gave them a water bottle that contained 5 litres of
water. Vidya consumed % of the water. Pratap consumed the remaining water.

(i)How much water did Vidya drink?

(i)What fraction of the total quantity of water did Pratap drink?
Answer:

Given: Total quantity of water in bottle = 5 litres

(i) Vidya consumed = % of 5 litres = % X 9 = 2 litres

Thus, Vidya drank 2 litres water from the bottle.

(1) Pratap consumed = (1—%) part of bottle

- % = % part of bottle

Pratap consumed g of 5 litres water = —: % 0 = 3 litres

Thus, Pratap drank % part of the total quantity of water.




EXERCISE-2.3

QUESTION-1 FIND

Answer:

(i

CELERE R

B jofi=ixi=Td=%
Erlardel et _1d .1

(i)

@ 7ot g = r X3 =3 =W |
) rof =X E= e ==

@ lord el el B8

Question2 Multiply and reduce to lowest form ( if possible):



Answer:

HIx22=2x8_28_16_
% p==1
MEx3=55 =% =%
03 X 4= 5 = % = 1
i g x =7 = =15

Question 3 Multiply the following fraction

Answer:

0xsi=ix =t =g =5-2%
W63 = x =B = -at
2l =fx 10 _ & _g

e (P SV SR
(v]3%><$_1_,:x$:%:1%
(vi}?—gx?.:%x%_l;:f_%:.r%
wi) 34 x 2 =2 5 2= 23 1 9l



Question 4 Which is greater:

Answer:

B e 3 B e h b e SN

[l}?mf4or50f8:>Tx4or5}ca
3 3 3 3

= %87 u <3

3 5 .
Thus, E of 3 Is greater.

2
: ‘ofﬁilx%or%x

[ll} Lol = r3 = 5

=1| s

& 2
= >3

i
r2
T i

3
~ 7 Of

Thus, % of g is greater.

Question 5.Saili plants 4 sapling‘swin\; row in her garden. The distance Iggtween two
adjacent saplings is 3/4 m. Find the distance between the first and the last sapling.

Answer:
The distance between two adjacent saplings = 3/4 m
Saili planted 4 saplings in a row, then number of gap in saplings

——— # a—
- -y ®
S = 2 —i&
--‘—.—-—._‘—

Therefore, the distance between the first and the last saplings = 3X3/4 = 9/4 m = 21/4 m
Thus the distance between the first and the last saplings is 21/4 m.

Question 6.Lipika reads a book for 13/4 hours everyday. She reads the entire book in 6
days. How many hours in all were required by her to read the book?
Answer:

Time taken by Lipika to read a book = 13/4 hours
She reads entire book in 6 days.

Now, total hours taken by her to read the entire book

= 13/4X6 = 7/4x6=21/2=101/274%6=21/2=101/2 hours



Thus 10 hours were required by her to read the book.

Question 7.A car runs 16 km using 1 litre of petrol. How much distance will it cover using 2% litres of petrol?

Answer:
In 1 litre of pertrol, car covers the distance = 16 km

In 2% litres of petrol, car covers the distance = 2% of 16 km = 1—41 x 16 = 44 km

Thus, car will cover 44 km distance.

Question 8.(a) (i) Provide the number in the box —, such that % X = %.

(i) The simplest form of the number obtained in  is

(b) (i) Provide the number in the box —, such that % X %

(i) The simplest form of the number obtained in  is

Answer:
(a)
5
2 10
U e

1

b

(i) The simplest form of 0 is 3+
(b)
8 ‘
3 24
(1) 5 15 Ta

i : 8 ... &
(i) The simplest form of & 1B aes




EXERCISE-2.4

Question-1 Find

Answer:

M12+3=12x 3 =16

(14 + 2 =14x £ =% =163

(i 8+ % =8x2=2=32

. it . 3 3 1

[I"J)iiTE—il)(E—E—].E
M3+21=321=3x3=2=12w)5+32=5+2=5xL=1=112

Question 2. Find the reciprocal of each of the following fractions. Classify the reciprocals as
i,

SN

proper fraction, improper fractions and whole numbers

Answer:

(i) Reciprocal of % = % — Improper fraction
(i) Reciprocal Df% S 73 — Improper fraction
(iii) Recipmcalcf% — g —+ Proper fraction
(iv) Reciprocal of% = % —+ Proper fraction
(v)Reciprocal of % — % —+ Proper fraction
(vi) Reciprocal of % = 8 — Whole number

(vi) Reciprocal of 1—11 = 11 — Whole number



Question-3 Find

Answer:
0i+2=ix3=B-%-1
g+5=x3=t3=4

0§+ 7= = S =
Malsg=B 3 B, 1_1_,4
W3 ra=fra=fxi=}

e f=t e % g1 2
Question 4 Find

Answer:

plei=ix2=22-4
@Eed_22 2

03+ =3x=3
W2+d=fed=lxt=% =38
WIri=fri=fxi=f3-%-1k
V)35 +13=F+3 =% X5=%5 — &
Win2 v+ 1g =M 8_F 55U _13




EXERCISE-2.5

Question 6.Write the place value of 2 in the following decimal numbers:
(i) 2.56

(ii) 21.37
(iii) 10.25
(iv) 9.42
(v) 63.352

Answer:
(1) Place value of 2in 2.56 =2 x 1 = 2 ones

(i) Place value of 2 in 21.37 =2 x 10 = 2 tens

(iii) Place value of 2 in 10.25 = 2%1/10 = 2 tenths
(iv) Place value of 2 in 9.42 = 2x1/100 = 2 hundredth

'////////J\\\“‘

..

Question 7.Dinesh went from place A to place B and from there to place C. Ais 7.5 km
from B and B is 12.7 km from C. Ayub went from place A to place D and from there to
place C. D is 9.3 km from A and C is 11.8 km from D. Who travelled more and by how

much?
B

D Cc

Answer:
Distance travelled by Dinesh when he went from place A to place B = 7.5 km and from place B
to C=12.7 km.



A B
127 km
93
km
o 11.8km g

Total distance covered by Dinesh = AB + BC
=75+127 =202 km

Total distance covered by Ayub = AD + DC
=93+11.8=211km

On comparing the total distance of Ayub and Dinesh,
211 km > 20.2 km

Therefore, Ayub covered more distan‘ce by 21.1-202=09km =900 m

Question 8.Shyam bought 5 kg 300 g apples and 3 kg 250 g mangoes. Sarala”™ bought 4
kg 800 g oranges and 4 kg 150 g bananas. Who bought more fruits?

Answer:

Total weight of fruits bought by Shyam =5 kg 300 g + 3 kg 250 g = 8 kg 550 g

Total weight of fruits bought by Sarala = 4 kg 800 g + 4 kg 150 g =8 kg 950 g
On comparing the quantity of fruits,
8 kg 5509 <8kg950(g

Therefore, Sarala bought more fruits.




Question 9.How much less is 28 km than 42.6 km?
Answer:
We have to find the difference of 42.6 km and 28 km.

42.6 - 28.0 = 14.6 km

Therefore 14.6 km less is 28 km than 42.6 km.

Question 1.Find:
()0.2x6

(i) 8 x 4.6

(iii) 2.71 x 5
(iv) 20.1 x 4
(v) 0.05 x 7

(vi) 211.02 x 4

(vii) 2 x 0.86
Answer:
()02x6=12
(i) 8 x4.6 =36.8

(iii) 2.71 x 5 = 13.55

(iv) 20.1 x 4 = 80.4

(v) 0.05x 7 = 0.35

(vi) 211.02 x 4 = 844.08

(Vi) 2 x 0.86 = 1.72



Question 2.Find the area of rectangle whose length is 5.7 cm and breadth is 3 cm.
Answer:
Given: Length of rectangle = 5.7 cm and Breadth of rectangle = 3 cm

Area of rectangle = Length x Breadth

=57x3=17.1cm2cm2
Thus, the area of rectangle is 17.1 cm?

Question 3.Find:
() 1.3x10

(i) 36.8 x 10
(iii) 153.7 x 10
(iv) 168.07 x 10
(v) 31.1 x 100
(vi) 156.1 x 100
(vii) 3.62 x 100
(viii) 3.07 x 100
(ix) 0.5x 10

(x) 0.08 x 10
(xi) 0.9 x 100
(xii) 0.03 x 1000

Answer:
() 1.3x10 =130



(ii) 36.8 x 10 = 368.0

(iii) 153.7 x 10 = 1537.0
(iv) 168.07 x 10 = 1680.7
(v) 31.1 x 100 = 3110.0
(vi) 156.1 x 100 = 15610.0
(vii) 3.62 x 100 = 362.0
(viii) 43.07 x 100 = 4307.0
(iX) 0.5 x 10 = 5.0

(x) 0.08 x 10 = 0.80

(xi) 0.9 x 100 = 90.0

(xii) 0.03 x 1000 = 30.0

Question 4.A two-wheeler covers a distance of 55.3 km in one litre of petrol. How much
distance will it cover in 10 litres of petrol?

Answer:

> In one litre, a two-wheeler covers a distance = 55.3 km

~ In 10 litrs, a two- wheeler covers a distance = 55.3 x 10 = 553.0 km

Thus, 553 km distance will be covered by it in 10 litres of petrol.

Question 5.Find:
() 25x0.3

(i) 0.1 x 51.7



(iii) 0.2 x 316.8
(iv) 1.3x3.1

(v) 0.5x0.05

(vi) 11.2 x 0.15
(vii) 1.07 x 0.02
(viii) 10.05 x 1.05
(ix) 101.01 x 0.01
(x) 100.01x 1.1

Answer:
()25x03=0.75

(i) 0.1 x 51.7 = 5.17

(iii) 0.2 x 316.8 = 63.36

(iv) 1.3x 3.1 = 4.03

(v) 0.5 x 0.05 = 0.025

(vi) 11.2 x 0.15 = 1.680

(vii) 1.07 x 0.02 = 0.0214
(viii) 10.05 x 1.05 = 10.5525
(ix) 101.01 x 0.01 = 1.0101

(x) 100.01 x 1.1 = 110.11

EXERCISE-2.7

Question 1.Find:
()04 +2

(i) 0.35 + 5



(i) 248+4
(v) 654+6
(V)  6512+4

(vi) 1449+7

(viiy 3964

(viii) 080+5
Answer:
: . 4 1 L
(104 2= T53=1 ={.2

[ii}ﬂ.35+5=£x%:%=ﬂ.ﬂ?

100
e B 1_ = _ 654 1 _ 109
(ii)248 + 4= 28 x 1 = 7% = 062 (1v) 654 + 6= == x 3 = ¥ =109
6512+ 4= x = 5 = 1628

1449 2 | 207 _
(vi)14.49 + 7 = + =20 =207
Wil3.96 + 4= 32 x § = = =099

. 80 16
(vi)0.80 =+ 5 = 0 X% =10 " 0.16

[ [



Question 2.Find:
Answer:;

()48 + 10 = > = 0.48

(i) 52.5 + 10 = 223 = 575
. 0.
(i) 0.7 = 10 = I—J = 0.07

(iv) 33.1 + 10 = S5t = 331

272.23
10

(v) 272.23 = 10 = = 27.223
vi) 0.56 = 10 = “"ﬁ = 0.056
(vi)

(vii) 3.97 + 10 = 237 = 0.397

Question 3. Find:

Answer:
() 27 + 100 = Z x %:%:D.GET
U TN
(ijo3+100==2 x L —_2 —0003
(i) 078 = 100= & x -L _ _1__qgpg7g

ll}Cl 11]1] lUﬂDﬂ

- : _ 4326 ., 1 4326 _
(iv) 432.6 + 100 = 228 x L — T8 = 4.326

_ 236 ., 1 _ 236 _
(v) 236 + 100 = 28 x - = 28 - 0236

: ; _ 9853 ., 1 9853
(vi) 98.53 = 100 = 100 >° 100 = 10000 0.9853




Question 4.Find:

Answer:

(i) 7.9 = 1000 = % X = M = 0.0079

— 263 _
(ii) 26.3 = 1000 = ID X ﬁ Toooo = 00263

. _ 3853 1 __ 3853 _
(i) 38.53 = 1000 = 100 < 1000 — 100000 — 0.03853

- . _ 1280 { .. 980
(iv) 128.9 < 1000 = 10 > 1006 — 10000 — 0.1289

. b 1 =
(v) 0.5 + 1000 = = X —ooe = =2 = 0.0005

Question 5.Find:
Answer:;

- . e . 35 0 _ 10 _
[IJTTES—TTE—?XE—?—E

(i) 36 + 02 =36 + = = 36 x I} =18x10 = 180

3425 5 325 10 65
2 i LT == T Al
(iii) 3.25 - 0.5 = o0~ 10 — 100 X E® — 6.5

. - _oJ094 . T 3094 10 442
: & pam  0w 100 10 _
WMO5+0B5=F =79 %X3 =5 =2

Tiv . 235 _ G 100 _
(i) 7753025 = {8 =T x F2 =31

(vii) 76.5 + 0.15 = T2 = 18 — T8 » 10 - 57 %10 = 510

s 378 . 14 _ 378 10 _
(vil) 37.8 = 14 = _Tﬁ—ﬁxﬁ—z?

- Sy 23 .13 _ a3 10 _ 2 _
() 273 +13=950 ~ 10 =100 X138 — 10 - 21



Question 6.A vehicle covers a distance of 43.2 km in 2.4 litres of petrol. How% much distance will it cover in one
litre petrol?

Answer:
" In 2.4 litres of petrol, distance covered by the vehicle = 43.2 km

.".In 1 litre of petrol, distance covered by the vehicle = 43.2 + 24

_m.u_m u
I T RS [T R 11} 10

=18 km

Thus, it covered 18 km distance in one litre of petrol.




